


SCHOLASTIC APTITUDE TEST

How many neutrons are present in Bro- %1
mine whose Atomic No. is 35 and Mass

nois 797

14

2)48

3)2765

4)44

Chips manufiscturers usually flush bags of %2
Chipswith__ gas,

1) Sulphur

2) Nitrogen

1) Carbon dioxide

4) Oxygen

Name the hardest substance in our body, %3
1) Head

2) Tooth Enamel

3) Bones

4) Jaw

Which mirror is used as a rear view mirror 9
invehicles

1) Plane mirror

2) Convex mirror

3) Concave mirror

4) None of these

Name the process used (o separate cream -
from milk.

1) Distillation

2) Centrifugation

3)Sublimation

4) Decamation

A § g2 &1 s g w1 afz awt
AW HEA 35 T ZEA Heaw 7e
1) 14

2) 48

3) 2765

4) 44

(e AR T s
i wa

1) HERL

2) A

3) A s

4) A

iR | waffius #2n Y w2
1) far

2) =i 9w

3) wfgai

4) wE®

iigEt ¥ 41 Fad ¥ Tdv F e wER F
o o e g § 2

1) wHEE g9

2) I9@ TH9

3) A agw

4) o | wrd

WM H] §H  yaE ® & ufEar S 59
wEa k2

1) sreEs fadt

2) sgHEm i

3) suEe fasdt

4) T fawd




e ————

Q.6. The distance between two stars is mea- R6 @ @il & == # g 310 FA w1 A

sured by the unit TE?
1) Kilometer 1) fasinder
2) Light year 2) v
4) Hectometer 4) twnfe
Q. 7. 'Widal Test' isused 1o diagnose which dis- .7 fm Im =1 v o7 & o frem 2R
ease. fia wrn &2
1) Typhoid 1) foard qar 1
2) Malaria 2) wefem
3) AIDS 3) uzwW
4) Cancer : 3) &wm
Q. 8. Name the vaccination given 1o prevent us dufes @ gen & fern SH-wW de
Tuberculosis. w2
1) MMR 1) THUH SR
2) RVI 2) ImEt W
3) BCG 3) @S
4) RVS 4) Im = FEA

Q. 9. Gasproduced due to incomplete combus- 7 :;ﬁmﬂm—iﬂﬁﬂmmﬁﬂ
tionis

1) Sulphur dioxid 1) "R THAWEES

2) Lead 2) e

3) CFC 3) CFC %o wer Fra

4) Carbon monoxide 4) WER HAIAEETE
Q.10. Main component of CNG is %10 ONG %1 5@ w2 w1 § 2

1) Ethane 1 A

2) Butane 2) #&:=

3) Propane 3) W

4) Methane 4) fad

L]



0 11, Aquaregiaisa fresh mixture of two acids
in ratio 3;|
1) Hydrochloric acid and Nitric acid
2) Sulphuric acid and hydrochloric acid
3) Acetic acid and Lacticacid
4) Nitric acid and sulphuric acid

). 12. Anartificial fibre that resembles silk is
1) Nylon
2) Polyester
3) Rayon
4) Acrylic

Q.13. Theseasonal journey undertaken by many
species of birds and animals is called
1) Migrstion
2) Nomadism
3) Wandering
4) Hibemation

Q. 14. Which organ of the body is affected in
Pneumonia
1) Kidneys
2) Pancreas
3) Lungs
4) Intestine

Q. 15.MCB stands for
1) Miniature Circuit Breaker
2) Miniature Cycle Breaker
3) Mini Circuit Breaker
4) Main Circuit Breaker
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Q.16. The brightest star in the night sky is Wie A F AEHH ° Hailuw wuw A Ay
1) Sirius HA-TE?
2) AlphaCentauri 1) fafms
3) Polestar z; e Herdt
o 3) ¥\da
4) Pleiades o
Q.17. Msymbol denotes o St e
) Resistinee is not present
2) Resistance is decreasing M ik
3) Resistance is increasing 2) ufduwz ¥
4) Variable resistance 3) il % w1 ¥
4) ufeiy wee w2
Q. 18.Cinnabar is an ore of w18 faraf B g = o
]) Lead. . 1) ‘ﬁm
2) Alumirium A a ‘
3) Mercury 3) W
4) Tin 4 =
Q. 19. Which element is fixed by thizobium bac- w19 Trgsitfagm far] gr F=-31 a0 defa
teria Tepm st % 7
1) Sulphur 1) HER
2) Nitrogen 2) TEE
3) Carbon 3) A
4) Oxygen 4) A
Q. 20. Atmosphere of which planetismade upof w20 fow we ®1 agHze wegf® 37 &
clouds of sulphuric acid e W AN EAE?
1) Mars 1) #TE U8
2) Jupiter 2) TewfaTE
3) Venus 3) IHUE
4) Satum 4) w7

0Q.21.'Clove', a common spice, isderived [rom w21 &’ wramore Wi fen =/ e s,

which part of the plant e & forw A g fEr ST £ 7
1) bark of a tree 1) TzwHiom A

2) flower 2) $E 8

3) bud 3) FeH

d) leaf 4) A



J. 22, In liguids the process of heat transference
is through
1) Radiation
2) Conduction
3) Convection
4) Scattering

). 23. If a person cannot see far off objects, he/
she is suffering from
1) Presbyopia
2) Hypermetropia
3) Myopia
4) Astigmatism

). 24. The process of depositing a layer of zinc
oniron surface is called
1) Electroless plating
2) PlasmaSpraying
3) Electroplating
4) Galvanization

. 25. The property of metal by which it can be
drawn into wires is called
1) Ductility
2) Malleability
3) Reflectivity
4) Conductivity

. 26. What do you call an atom that has more
protons than electrons
1) Acation
2) Ananion
3) Anisotope
4) Neutral atom
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Q. 27. The hottest zone of the candle flame is

Q. 28.

Q.29.

— Nen Luminous Zone
Luminous zone
Dark Zone

1) Non Luminous Zone( Blue flame)
2) Luminous zone ( Yellow flame)

3) Dark Zone

4) None ofthese

In Bhopal Gas tragedy, the gas leaked was
1) Dichloroacetylene

2) Arsenic pentafluoride

3) Diazomethane

4y Methyl [socyanate (MIC)

Iri terms of surface area which is the small-
est cell organelle

1) Mitrocondria

2) Golgi apparatus

3) Ribosomes

4) Cytoplasm

Q. 30. The eight teeth in the front centre of your

Q.3

mouth are known as
1) Molars

2) Pre Molars

3) Incisors

4) Canines

. Which part of solar cooker is responsible

for Green house effect

1) Outer wooden box

2) Glass Sheet

3) Inner box (painted black)
4) Thermocol (insulator)

w27

0.28

W.29

q.30

.31

et @t ol 1 Tl T g wE-m ¥ 7

Non Luminous Zone
Luminous zone
Dark Zane

1) T =Ewer &3 (Fren ¥
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1) g
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32. Symbol for a battery is w32 dh w wdE FA-wW R \

D =i} 0 i
2) b 2) ==
DN W— O,
1) —MAA— 4)  m—AAAA~
33. The type of joint between armand shoul- g 33 g 3 ¥t g aR w SwEm E?
deris 1) fewdiy
1) Hinge joint SR -
2) Ball and Socket Joint 2) ;R::'{“ﬂ! i
3) Glidingjoint 4 e
4) Pivotjoint L
34. |ce floats on water because w34 ath gEl w1 wee W galey d ¢ il
1) Water hasa higher density 1) U AT s ¥
2) Ice has a higher density 2) af w1 g sifuw R
3) leeis lighter than water 3) % yEl 4 weh B
35. Copper metal when exposed to moistair ¢35 aig 4T 1 T GG 6 a9 w4
for a long period develops a TETTHT oo fernfem &1 =t &
1) Green coating 1) i T
_'Z) Yellow coating 2) e O %t
3) Bm:”ﬂﬂﬂﬂfiflg 3) i I w WA
4) White coating 4) we i F1 wa

w3e & s A x w9 ur fean # 2
6 What is the value of ‘x” in the given ligure?

>
> 1) 100°
10" 2) 110°
2) 1o 3) 120°
3) 12 4) 130°

4) 1300
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Q37 1fx=-2,y=3, what will be the valueof W37 T x=-2,y=3 N y-yx ®74 #F

Q.38

Q.39

Q.40

Q4l

y-yx?
n 7
2) 8
3) 9
4 1

The probability of getting composite num-
ber whena dice is thrown once is

1

1
6
2)%
p 3
o 4

What is the angle on one side of a line?
1) %0°

2) 1807

3 270°

4) 360

What is the square root of 6767
1) 16
2) 36
3) 46
4 26

w38

%39

H.40

After 5 years | will be thrice theageof my 5,419

son. If I am 40 years old, what is the
present age of my son ?

1) Syears

2) 8years

3) l10years

4) 12 years

wm?
1) 7
2) 8
3) 9

4) 1

H UE W UF G IS 9O e
I FTA F1 W 9 g 7

8]
2)

3)

ol it o 2™

4)

At O S R s At
1) 90°
2) 180¢
3 2700
4) 360°

676 %1 =iee famrm #m 2
1) 16
2) 36
3) 46
4) 26

wfa = W 7 s 6O woAg 53
Ton ¥Rt | AfE A A g g0 = @ @
M g F wdur s fRa @i 2

1) sad

2) s

3) o=t

4) =




0042

Q43

Q.44

Q45

Q.46

Q47

What is the % age value 0f 2.25 7
1) 0.225%

2) 22.5%

3) 2250%

4) 225%

For profit, what condition is correct 7

1) Sale Price > Cost price

2) Sale Price = Cost price

3) Sale Price < Cost price

4) Does not depend on Sale or Cost price

4—[8—(6-2)] isequal to
n o
2) 1
3) 2
G

a’- b is equal to
1) (a+b)(@+b)

2) (a-b)(a-b)

3) a(a-b)

4) (atb)(a-b)

Ifthe sum of digits of a number is equal to
3.60r9 then itis divisible by

1) 6

2) 3

3) 9

4) 3

What is the perimeter of the square whose
sideis6em?
1) 1Zem
2) l4em
3) 16em
4) Z4em

.42

W.43

W44

H.45

W47

IS
v

'

?

g

2.25 =1 Afaem =9 F En
1) 0.225%
2) 225%
3) 2250%
4) 225%

& 1 feafa & fom fra @ s wdt £2
1) fawa yea > %9 g
2) fog oea = w3 e
3) foawa 959 < %9 g
4) fowa qeu @1 #9 geg W ol T

4-[8~(6-2)) T §
) 0
2) 1
3) 2
4) 3

@ - b e A e aga &7
1) (a+b)(a+b)

2) (a-b)(a-b)

3 afa-b)

4) (a+b)(a-b)

afy fatdl H@m & a4 F1 A3, 6, MOH
il a7 Hem F= 7 A o fEfsm @ ?
1) 6
2) 8
3) 9
4) 3

6 B0, o A = = o =8 2
1) 123,
2) 1484,
3) 168,
4 2487,




Q.48 What s the standard form of 5,26, 00,000

Q49

Q.50

Q.51

Q.52

Q.53

=

1) 526x10°
2) 526x 10
3) 526x10°
4) 52610

What is irrational number ?

1) Terminatingdecimal

2) Non-terminating and non repealing
3) Non-terminating and repeating decimal
4) None of these

What will be the simple interest on Rs 1000

for 2 years at the rate of 5% per annum?
1) Rs50

2) Rsl50

3) Rs200

4) Rs100

Whalisl!wvalueofxin%x+;=g;
2
2) 3
3) 4
4 5 -

What is the H.C.F of 24 and 367
h 4

2) 6

3) 8

4 12

What is one third of half of 540 7
1) 90
2) 80
e i O i |
4) 60

w48

H49

wso

usl

w52

w53

5,26,00,000 =1 7w ¥q w7 & 7
1) 526x10°
2) 526x10
3) 526x10°
4) 5.26 x 10*

sfiy wem @n 7

1) Wid TAWEE

2) @i a ST g
3) JwiE 3 A e
4) i & =

1000 % 9T 5% =it WL =nw w W A

2 w1 faern = fovém 2
1) 50%
2) 150%
3) 200%
4) 100%

%x+~:~=329ﬂxwmawt?
1) 2
2) 3
3 4
4) 5

493w uEa fmrnd?
1) 4
2) 6
3) 8
4) 12

540 ¥ e 1w feerd fomam w7
1) 90
2) 80
3) 75
4) 60



Q.54

Q.55

Q.56

Q.57

Q.58

How many rupees are there in 450 paise ?
) 35
2) 45
3) 25
4) 5.5

What is the each angle of an equilateral
triangle 7
1) 45°
2) <508
3y S5°
4) 60°

Which of these lines passes through the
center of India?

1) Tropic of Cancer

2) Tropicof Capricorn
3)  Equator

4)  Arctic

‘What is the confluence of rivers Ganges
and Yamuna?

1) Lucknow

2) Ayodhya

3)  Varanasi

4)  Allahabad

The largest desert in the world “Sahara” is
in-
1
2)
3)
4)

Asia

Europe

Affica
South-America

W.54

.55

.56

H.57

w.58

450 ¥ 1 Fert oA A € 7
1) 35
2) 45
3) 25
4) 55

wrag favE & wedE S &1 A
amE?
1) as'
2) s0°
3) ss°
4) 60°

i & -t o T e A e § 2
1) & @t
2) Wt

3) Taged @
4) b @

i 3 A T -
1) WETS
2) e
3) =
4) FETRMER

fava #1 waw ag rem ‘wew’ 59
TeTgtg 1§ feem & 7

1) ufrn

2) T

3) STRE

4) afEgor smfER




Q.59

- Q.60

Q.61

Q.62

Q.63

Q.64

Kaziranga National Park is situated in-
Madhya Pradesh
Andhra Pradesh

b
2)
3)

4)  Assam

Indian Standard time (1ST) is caleulated
on the basis of longitude-

1
2}
3)
4)

82.5°E
36.8" W
23.5%E
66.5" W

Which planet is called the twin of the edrth ?

1)
2)
3)
4)

Which river runs from east to west?

1)
2)
3)
4)

The star closest w earth is:

1)
2)
3)
4)

The best soil for cotton cultivation

1)
2)
3)
4)

Venus
Mars
Mercury
Saturn

Mahanadi
Krishna

Narmada
Godawari

Pole star

Alpha Centauri

Sun

None of these

Sandy
Loam
Red

Black

.59

el

W62

W63

Hod

IS AL S Fwl e € 7
1) wfv=d! e

2) W W

3) @Y wEw

4) @EH

WA H WAE 56 3 8 e S
e 9 Fwifew fven s 2

1) 82.5°%Ye

2) 56.8°We

3) 235°9e

4) 66.5" 9o

TR T 1 g e e FE I 2
1) WE
2) "

3) 99
4) ¥f{

TH # FE-6 @ @ W uives T
W wEdl 7

1) HeEwgEl

2) o

3) THm

4) TEED

| AW A % wEH AEEE § 7
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4) w7
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1.65

0.66

Q.67

Q.68

Q.69

Which of the following is not a rabi
crop?

1} Corn

2) Wheat

3) Chick-pea (Chana)

4) Mustard

Annamalai Hills in South India don’t pass
through which states?.

1) Karnataka

2) Kerala

3) Tamil Nadu

4)  None of these

Ocean currents are not caused by this
factor:

1)  Eclipses

2) Effectsof winds

3) Centrifugal force

4) Precipitation

Which state has the highest number of rep-
resentatives in Lok-Sabha?

1) Madhya Pradesh

2) Tamil Nadu

3) UunarPradesh

4)  WestBengal

‘Women's protection from Domestie Vio-
lence” Act became effective inthe year-
1) 1995

2) 2000

3) 2005

4) 1992

.85

.66

o7

.68

H.69

T | F19-H e T w7
1) =R
2) i
3) =
4) wwE

SAMETE WER Ao iyt uiE * e
T | e Tt ?

1) S

2) F@

3) dfFerg
4) Tt 4§ ==

HIET ST §H HE0 W A€ A
1) TEW

2) w1 H UWE

3) sfusEa @@

4) =0

e # 58 7 % wiee gan wiw
%2

1) A W

2) afuerg

3) IWMWW

4) fyag Ane

et 21 e ¥ fer ' wt ffw wwE
YA T 7

1) 1995

2) 2000

3) 2005

4) 1992




Q.70 Kangraand Lahul Spiti became a partof w70 fepwrerel wawr =i A et ferdt foredf

Himachal Pradesh on w1 forera w4 G 7
1) 15thApril, 1948 1) 15 %= 1948
2) 25thJanuary, 1971 2) 25 w1971
3) st November, 1966 3) 1 TEER 1966
4) 15thAugust, 1947 4) 15 TR 1947

Q.71 Who was the first *Vice-president of g7 =3 I & YN IRy w47
Independent India’ ?

1) Dr, Rajendra Prasad 1) SRR W
2) Dr. Sarvapalli Radhakrishnan 2) o WENEE TNRFR
3) Lal Bahadur Shashtri 3) e R el
4)  Dr. Bhim Rao Ambedkar 4) o i T ST
Q.72 Which ofthe following isnotameansof w72 fire= & |/ F9-81 G daG &1 99 T8
communication ? %7
1) Newspaper 1) HHER WS
2) Television 2) *fedam
3) Trin 3) twmE
4) Radio 4) em

Q.73 Theslogan *Dao or Die’ was given by:
1) Pr Jawahar Lal Nehru

w73 ‘w0 @ ' A feed fem ?
1) Yo FERTEE TEE

2) Mahatma Gandhi 2) T e
3) Dr. Rajendra Prasad 3) Blo TH=E YHR
4)  Sardar Vallabhbhai Patel 4) TER FEEwd T2E

Q.74 The first state to adopt *Panchayati Raj" in - 74  wrm 9 e T 9T /en veen

Indin is: FA-ME?
1) Sikkim 1) fafe=m
2) Rajasthan 2) U
3) Punjab 3) g
4) Haryana 4) wfam



Q.75

Q.76

Q.77

Q.78

Q.79

Q.30

The Head of Indian Parliamentary System  W.75
isi-

1) Prime Minister

2) President

3) ChiefMinister

4) Loksabha Speaker

In India, Laws are framed by:-
1) Executive

2)  Legislative

3)  Judiciary

4) Police

W76

Our *Panchayati Raj" System is
1) Twolevel

2) Three level

3)  Fourlevel

4)  Fivelevel

W77

The minimum age to contest Lok Sabha  W.78
election is:-

1) 18 years

2) 30years

3) 25years

4) 35years

When was the United Nation Organisation 4 79

constituted?
1) 1945
2) 1947
3) 1950
4) 1942

Wha is known as the *Sher-E-Mysore™?
1)  Shivaji

2) TipuSultan

3) Akbar

4) Babur

.80

15

W HEETg 73 91 gfem S e 2
1) wuEHE

2) wegfa

3) Ty Al

4) THEEY AW

FTA w7
1) = wifeEm

2) faum wfes

3) = ifee

O

T daran e fae wig § 2
1) fg-wia

2) B-wig

3) wgd-wlY

4) Yg-w@yg

TIFHYT 1 @ w5 & fer =g7am g
et & 7
1) 1894
2) 30494
3) 2594
4) 35 @Y

T U A A WA FA EE 7
1) 1945
2) 1947
3) 1950
4) 1942

1 | “Yrn-u-ie fed ww & 7
1) fmarst

2) &Y geaH

3) FFA

4) A&




Q.81

Q.82

Q.83

Q.84

Q.85

Q.86

R —————————————————————
RS R W s wawan few A A e

‘Paper” was invented for the first time in
1) India

2) China

3) Britian

4)  laly

The Oldest Veda is-
1) Rigveda

2)  Samveda

3)  Yajurveda

4)  Atharvaveda

W.82

1) wiEd
2) wH[
3) faz
4) gl

g7 B FE W a wE-w 2
1) wER
2) WEAg
3) #ER
4) WAz

In exchange 10 *Spices’ the European .83 7319 =49l SHIEh & wael W@ #1 79

merchants oftered the Indians-

1) Petrol -
2)  Gold and Silver

3) Raw-material

4) Cotton

Who defeated ‘the ruler of Magdha® with .84

Chankya's help?

1) Chandragupta Mourya
2) Ashoka

3) Alexander

4) Samudmgupta

The 1857 revolt started at
1) Meerut Cantonment
2)  Kanpur Camonment
3) Delhi Cantonment

4)  Ambala Cantonment

How was Ruzia Sultan related to Himish?
She was his-

1) Daughter

2) Wife

3) Mother

4) Sister

.85

16

ARIRAG?
1) e
2) Wm-ad
3) &= e
4) Y™

i T 3 U e R F TR
w2

1) wEadd

2) i

3) faw=x

4) WETA

1857 # wgn faug) fade +8 4 a0y
?

1) S o

2) WA BIEA

3) feoe Bt

4) stamen oEE

W e yerE w1 w6902
1) #&

2) I

3) #

4) =EA



Q.87 Who defeated Sultan Ibrahim Lodhiinthe 9.87 reiye %1 weet w78 1526 H geai §aH

Q.88

Q.89

Q.90.

first battle of Panipat in 15262
1) Humayun

2)  Jahangir

3) Babur

4) Akbar

Who was the first Governor General of g gg
India?

1) Lord Clive

2) Lord Comwallis

3)  Warren Hastings

4) Lord Karjan

The Ramcharitmanas composed by Tulsi  %.89
Das was written in

1) Tamil

2)  Awadhi

3) Bhojpuri

4) Hindi

The first country to enter in India for rade  %.90
was

1) Portugal

2) France

3) England

4) Germany

@ &) fred e a2

1) w6y
2) gl
3) =
4) FwAL

NI 3 WS T S 9 W A 97
1) g FomEa

2) W€ wHEETEH

3) @A e

4) e Fuq

gerster g s vaafiars ' e s
 foran wan ar ?

1) @

2) IraHt

3) viregl

q) fe=t

=R F e ura # w3 w3 aren wu
W HE-T r?

1) ydma

2) Wi

3) ¥

4) et




